
NO. Description QTY PART NO. 

1 Bracket Motor  ST 1 44-2683-3

2 Hex Bolt 3/8-16x1" SS 4 11-0375

3 Mounting Plate 15"X20" PVC 1 44-7900-P

4 
Drive Shaft  SS 2ft 

 SS 3ft 
 SS 4ft 

1 
43-0782
43-0785
43-0777

5 Vapor Seal  PTFE 1 22-0848

6 Column  2ft 1 44-7910-2
 3ft 
 4ft 

44-7910-3
44-7910-4

7 Discharge Pipe 2NPT  2ft 1 33-2175-2
 3ft 
 4ft 

33-2175-3
33-2175-4

8 Shaft Sleeve  2ft 1 44-7935-2C
 3ft 
 4ft 

44-7935-3C
44-7935-4C

9 Elbow 90° w/ 3/8NPT port  2NPT 1 33-0997-5

10 Bushing Right Hand Graphite 1 44-1974
 PTFE 44-1976

11 Bushing Separator  Ø1 1/2" 1 44-7923-C

12 Bushing Left Hand Graphite 1 44-1973
 PTFE 44-1975

13 Impeller 1SC Ø5.25" 1 44-7930-1C
2SC Ø5.75" 44-7930-2C
3SC Ø6.625" 44-7930-3C
4SC Ø7" 44-7930-4C
5SC Ø7.5" 44-7930-5C
6SC Ø4.75" 44-7930-6C

14 Suction Casing 1 44-7801-C

15 Strainer Suction 3NPT PE 1 99-0745

16 Nipple Close 3NPT 1 33-1041

17 O-Ring  EPDM 42 22-0569
 FKM 22-0568

18 O-Ring  EPDM 1 22-2219
 FKM 22-2219-V

19 O-Ring  EPDM 1 22-0815
 FKM 22-0846

20 Support Casing 1 44-7811-1C

21 Cap-Nut & Stud  3/8-16x15/16" CPVC 12 44-2687-4

22 Pin Holder Ring Ø3 1/2" 1 44-7922-C

23 Bearing Liner  Alumina 1 44-1979

24 Liner Lock Pin 2 44-7921-C

25 Cap-Nut & Stud 3/8-16x1 1/4" 6 44-2687-3

26 Cap-Nut 3/8-16 6 44-2682

27 Hex Head Bolt 3/8-16x2 3/4" SS 6 11-2134

28 Pump Shaft Adapter  SS 1 44-7920

29 Motor Screw 1/2"-13x1" SS 4 11-0407

30 Motor Adapter Plate  SS 1 44-6249

31 Motor TEFC 3450/2850rpm 7.5Hp 1 66-1561
3450/2850rpm 10Hp 66-1534

3450rpm 15Hp 66-1535
1725rpm 7.5Hp 66-1356-B

32 Tube Connector 1/4"x3/8NPT PP 1 33-2680

33 Tube Ø1/4"xø.170" PP 1 44-1612

34 Tube Connector 1/4"x1/4NPT PP 1 33-1074

35 Washer 3/8” 6 11-0126

36 Lock Washer 3/8” 10 11-0140

Product Bulletin: P-318

Operation and Service Guide: O-3180

PARTS LIST 

P-3180_A
08/18/23
Page 1 of 1

Series 'EFB' | Single Bearing Sump Pump 
© 2023 Serfilco Ltd, All Right Reserved. 

2900 MacArthur Blvd.  Northbrook, IL. USA 60062  WWW.SERFILCO.COM  (800) 323-5431 

/pdfs/bulletins/F-506.pdf
/pdfs/liturature/O-0903.pdf
http://www.serfilco.com/
file://///engineering/contactus.aspx
http://www.serfilco.com/



